| Efficiency vs Dxy |
.02
X

<N S T S S A S S
L R e S
< S R R R T T T
e e

LT o o e
otz
ook b
=
000

eff

T2 0 0 e e o e e o
0002

OL.\,O_IIII;IIII;IIII;IIII;IIII!IIII;IIII;IIII;IIII;IIII

Rati

098 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

T T retram

It_TT_NEWdefault_specPLessl
it EWdefault_specPLess2
it EWdefault_specPLess3

T

—— DOM K
_ —e— DOQM™mk

[ Efficiency vs Dz | | —— DQM™mk
—— DOM™mk

it EWdefault_specPLess4
19.02 — .

o
o
=
[T
§.|=.
-—-—:

OJ“L'O_IIII;IIII;IIII;IIII;IIII;IIII

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


